TEEFE 2.1 Thermodynamics Home Work 2.1
Please evaluate the following integrations
(@) (@)= | expl-ax’1dy=" (481 bEIIESENG - ARREFEEIE A 20 B)
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(e) Take a derivative of I,(a) to verify your answer of Problem (c). (49p% F{HEIESERT - AREREEEEE A 2 B)
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(f) Take a derivative of I,(a) to verify your answer of Problem (d). (4% - {EH{EFHERF - AEHEEEEE A 5 B)
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(B) BTG » FrLAKE I office hour FEFEE RS FIALTIE » T HE 8 -

(g) Take a derivative of ,(a) to evaluate the following integration
1(@)= [ x*expl-ax’1dx =" (485 HEIFSES - AREHIEE A 57 B)
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